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No. of Questions : 100
wyET & e r ;100

1

Time : QE Hours Full Marks : 300
1

w9 2, G0 quIfEF : 300

Note : (1) This question booklet contains 100 (hundred) guestions in all
{30 in Section - A and 70 in SBection - B). Attempt as many
questions as you can. Each question carmies 3 marks. One mark
will be deducted for each incorrect answer, Zero mark will
be awarded for each unatlempted guestion.
g4 usA-gRasr d @ 100 () "9 ¥ (@os- 1 # 30 3
wuE-§ # 70 )| Aftemias wvdl B &d B & 9GeT &L
wad 999 3 () ot & B IRF TET IOT F T ow
STF FIET AW TAFH AR T T AT L7 G0 )

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

gfz apiites dfcas 39T T8l IO # feRe wiia &, @ Fean
el I T

3 P.T.O.
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Ol.

02.

Section-A
HUS-3

Indian education put emphasis upon :
{1} The tradition of Indian society

[2) To give Honour to elders & teachers
(3} Cultivation of values

(4) All of the above

TRAT & HJew ad B o

{1) #dE @99 3 goga g7
() IOTTR OF ST & 9T 97
(3) AT F9pfa & dadw oy
(4) IUET g9 g

"Every school subject has a disciplinary value," it means, that ;
(1) It brings discipline among students

(2) It teaches certain habits and qualities to train the minds of
students

{3) Every subject is the outcome of the work of disciplined thinkers

{4) It requires disciplined methods of teaching
“ﬂ?&mﬁﬂﬁtﬁﬁﬂu%qm%ﬂjsﬂﬁwq@@m%,”m
Ao 8 B

(1) @ =l & organa qmr @

(2) %W%Wﬁ@gmﬁﬁ%mw%
@) o B sty Riaet & w1 e e &

{4) @mg&ﬂfﬂﬁfﬁwﬁfﬁaﬁmsﬂiﬁma‘ﬁ%

4
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03. A teacher should plan his lesson before he goes to his class, because
it helps him to :

(1) Satisfy parents
[2) Create happiness in the classroom
(3) Achieve curriculum goals

[4) Assign home work and classroom waork

T STSIGE Y FET F AR 4 TR & FHU us W JA S A
oife i 98 Ige g8Edr & B o

(1) ARwEs B g 0 A
(2) T H AR 9= HT X
(3) QrgTEH & @ & gia o
() Y qd HEEE gar B o

04. For becoming a good teacher, the most important quality of a persen
is :
(1) Genuine interest in teaching
{2) Knowledge of his subject
(3) Ability to control students
{4) Ability of good expression

o STEST FENYE T & B, o AR A e weayet A
B

(1) fererer & ofem sfa @

2) fomm @ owF &

[3) sEt P Preba @ & AT A

(4) ot aiEafe @ Arad #

5 P.T.O.
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05. If [ will become a teacher my most preferred activity will be to
(1) Give important questions to students before examination
(2) Dictate notes in the class
[3) Clear their difficulties regarding subject-matter

(4} Make student disciplined

Al § ud TR 99 AW O A0 g9y w5 w8
(1) 98 & vext B #@ yeEgel 9v7 @qr 3

(2) =Hem A g 2

() T a5y ] @ty o7 wEEmelt @) g g

(4} BET W smaniyE s

06. If a student gives wrong answer to your question you will
(1)  Scold him for not having learnt his lesson properly
(2) Explain why his answer is wrong
(3] Ignare the wrong answer

(4) Ask another student to answer and ignore him

9IS O BT AYE O399 @ e IER AT B oaw oy
{1) Gﬁmﬁmﬁmﬁqwﬁ%ﬁﬁﬁéﬁ
(2) 7& W= U & I Iw #G T B

(3) ™A I U7 ;@ Tt

(4) Wgﬁ%mﬂaﬁ?aﬁﬁwﬁeﬁ?mmmﬁ
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You are teaching a topic and a student asks a question unrelated to
the topic. What will you do ?

(1) You will permit him to ask unrelated question
(2] You will not permit him for this
(3) You will consider him as undisciplined and punish him

(4) You will answer the question after the class

AT FoT X TF g6 9T @ & N oF o= U § orgafud wwe
HEAT & | 9 FqT HAT ?

(1) o9 Iq srealaT 999 e &t sy 3|

(2) o9 IV srEfuT me gER A el TE &
(3) 99 IF A ARy TE TN

(4) AT FEAGT FHH FEAT I

What type of teacher would you like to be ?

{1) A teacher who teaches the whole curriculum

(2) A teacher who helps his students in learning

(3) Teacher who is a friend, philosopher and guide of his students
(4} A teacher who maintains good discipline.

FT R U @ e &9 R ?

(1) S=NE ot % g urgasss & ggrn }

(2) s S AR 7 SE B GEEAr HIET §
(3) STETTR AT BEt Fr e, Il o w2
(4) STEHTIH S STEBT IFANEA @ ¥

T P.T{ﬂ‘
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09,

10.

1],

At authoritarian level teaching is :
{1} Teacher centered (2) Child- centered

(3] Headmaster centered (4) Experience based

F{He & g T -
(1) °1eA9% Hfad ey & (2) B FfEg dar 2
(3] NEFTATTE BiEd @Al & (4) Twa omUid

In order to modify the undesirable behaviour of a student the most
eflective method is :

(1) To find out the reasons for the undesirable behaviour and pro-
vide remedies

{2} To bning it to the notice of parents
(3] To punish the student
(4] To ignore it

mﬁ%mﬁﬁw%mﬁw%mﬁﬂaﬁmﬁﬁﬁﬁ%

(1) ABT HFER F FROT FH 99T T HL ITH IYIE TS
FE

(2) oifrmasl A giua we
(3) ©= H Ivs 247

(4) ITH IUET HE

Secretly is to openly as silently is to ;

{1) scarcely (2) impolitely

{31 noisily (4} quietly

8 Mofar gaem & Rid 2 3 Bz

{1} o @ 2 B (2) wfdrem @ o 2
3) g & Ry B (4) wifa 3 R &
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Which number would replace question mark in the series
7,12, 19,7 39

TYTaTEE F TE 9T IS Fqa1EY

(1) 29 (2) 28 (3) 26 (4) 24
Mind : Body ::

{1) Water : Air (2) CPU : Hard Disk

(3) Ship: Qil (4) Software : Computer
& - L LY

(1) orit ;&= (20 9ifg : sEfe=

(3) e : ad (4) WY : F=GTT
Life is related to Death in the same way as Hope is rclated to :
(1} Sad (2) Despair

(3) Pain (4) Cry

e =1 Trg gy A ¥ W g o watwa #

(1) g4 (2) Faer &

3 =£ A (4) Faeomt &

FAG, GAF, HAL, IAH,

{1) JAK (2) HAL

(3) HAK (4} JAI

TE U, T T T Qang AEQTaH, ....... : S
(1) Fcd (2) T T o

(3 TATD (4) 4 o

Which word does NOT belong with the others ?

(1} pguitar (2} fute

(3) wiolin (4) sitar

9 rT.0.
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17.

18,

19,

ﬁmﬁﬁﬁamﬁﬁw&aw%?

(1) frerx (2) srgh

(3) arfes (4) aEr
Which word does NOT belong with the others ?

(1) leopard (2) Jaguar

(3) elephant (4} lion
ﬁqﬂﬁaﬁﬁmmmﬁﬁww%?
(1) =&y (2) dgem

(3) oreh 4 9x

Child : Family ::

(1) Flower : Bunch {2) Bird : Set
(3) Calf ; Herd (4) Deer : Gang
T : 9Rar |

(1) =T : g @) afEar : e
(3) =Bgr : gos (4 wg : ¥

If 8 is the brother of N, the sister of N is M, the brother of p 1s J and
the daughter of 8 j5 P then who is the uncle of J 2

(n J (2) 8 3] N (4) M

aﬁﬂﬂmﬂﬁ%,ﬁﬁﬂﬁq%,qwﬁm%WHzﬁgsﬂ
w%é’r:ﬂaa-rahﬁﬁq%?

(1) o 2 | @ = @ 7

10
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20, 3, 10, 101, ?
(1} 100101 (2) 10201 (3] 10202 (4) 11012

21. Thefullformof NTSEis:
(1) National Technician Search Education
(2) National Teacher Search Examination
(3} National Talent Search Examination

(4] National Talent Selection Examination

NG RIS B call L

(1) A7 SEANTET J@E uogheE
(2) AT =T g9 g
(3) ATTA = O sEERTE
(4) AT o= | gEnhEeE

22. EDUSAT satellite was launched on
{1} 20* September, 2003 (2) 20% September, 2004
(3) 20" September, 2005 (4) 20" September, 2006

§f g ug g d@ ar G

(1) 20 fEa=R, 2003 = B @ @
(2) 20 =R, 2004 & B T W@
(3) 20 fga=R, 2005 @ fFar @ an
(4) 20 faER, 2006 FH R & o

11 f.1.0.
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23,

24,

25.

NIOS is known as :

(1) National Institute of Open Schooling

(2) National Institute of Open School

(3) National Institute of Overseas Schooling

(4) National Institute of Open Schelars

o S 3 UH ST AT R
(1) A9 32Ige o ofd= ety
(2) SIS FEEGE 1% i R

(3) AT TG b Sl T
(4) ATA YT B AT WA

NEUPA was established in -

t1) 1976 (2) 1986 (3) 1996
=T B W g 2 o
(1) 1976 # (2) 19867  (3) 1996 H

Who is the present director of NCERT ?
{1) Prof. J.S. Rajput

(2) Prof. Parvin Kiran Sinclair

(3) Prof. A, K. Sharma

(4] Prof. Krishna Kumar

i o @ e A, B PRys A & 7
(1} A1 S.qE. e
(3) 9. Q. &. gmHf

12

(4]

(4)

2006

2006 ®

(2) @. 9dH feT faasie
(4) . T FERT
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26. The theme of the 11 global monitoring report 2013-14 of UNESCO
was

(1) Teaching and Leamning : Arfhicving quality for all
(2} World Peace : Education and value
(3) Environmental Pollution

(4} Women Empowerment and Education

@Fﬁaﬁwwmﬁﬁézma-mzﬁrﬁﬁwm
(1) AT qus @bt : R s wre siter

(2) awd dim : ReEn ol i

(3) FERTH g

(4} T FIaEA= v g

27. Who wrote the famous book - 'We the people’ ?

(1} T.N.Kaul (2) J.R.D. Tata

[3) Khushwant Singh (4) Nani Palkhivala
“d?atﬁga”ﬂmzﬁwrg?'gﬁasﬁ?ﬂ%ﬁmﬁﬁ?

(1) o o T A (2) To 3Reo o =WeT I
(3) - gua= fHe 3 (4) A rerEET A

28. The Cabinet of which state in March 2012 decided to give a grant of
Rs. 30,000 to high school pass Muslims girls for perusing their
education and marriage ?

(1) Uttar Pradesh ' X {2) West Bengal
(3} Andhra Pradesh (4) Delhi

13 P.T.O.



14U/93/4{i)

29,

30.

mm%#ﬁm%qﬁzmzﬂmﬁ@rwgﬁaﬂwﬁ
ﬂﬁﬁ%fﬁﬁﬁ@fﬁﬁﬂ%ﬁf&Eﬂ,DﬂﬂﬁﬁﬁraﬂmﬁWﬂ?ﬁﬂﬂ
From fémr 7

(1) JIwIT H29T (2) uf¥em g

(3) ¥ oeEr (4) Rl

National Institute of Mental Health and Neuro Sciences is situated at
{1} Lucknow (2) Bhaopal

(3] Bangalore (4) Delhi

AT I i How oW qUE A wigd Rem ¥

(1) T&@TH " (2) U o

(3) T # {4) el &

P.W.D. Act, 1995 is related to :

(1} People's works department

[2) People’s welfare department

{3) People with Disabilities

(4] People with disease

o g=ge o TAe, 1995 = HEw ¥
(1) 9w =R feurda—= @

(2} diged apAT RurddA= &

(3) diga faT feaufagsd @

(4) dgA = RRdm |

14
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Section - B
GUs-q

A hght rope fixed at one end to a wooden clamp on the ground passes
over a tree branch and hangs on the other side. It makes an angle of
30° with the ground. A man weighing 60kg wants to climb up the
hanging rope. The wooden clamp can come out of the ground if upward
force greater then 360 N is applied to it. Find the maximum
acceleration in the upward direction with which the man can climb
safely. Neglect friction at tree branch and take g = 10m./sec?.

(1) 4m./sec’. (2} 2m./sec’. (3) 1m./sec?, (4) 3m./sec?.

%ﬁ?ﬁmwmw“ﬂ%%mﬁ%ﬁ%ﬁiﬂﬁ,
mgﬁm%ﬁwﬁmmmmﬁlw
THH 8 30° & HT T B ) v P11 911 60 RRoamo 2,
IH AT R TR & WO weAl We ¥ | whdl & W2 @ ol
q 3gsd B 360 A fE St g9 At smEvgEar ¥ et
ﬁ?&h%aﬁﬂm%ﬁmﬁwﬂﬁﬂnwwm
TR e, Rred aw onerdt S A Ren A g @ o 2
(g = 10m./sec?.)

(1) 4m./sec’. (2} 2m./sec®. (3} 1m./sect. (4) 3m./sec”.

A cylinder is released from rest from the top of an inclined plane with
angle of inclination § and length L Of the cylinders rolls without
slipping what will be its speed when it reaches the bottom ?

TF I FARrwaeen & oF awod 3 @ Soaad faeg & sigy o
8, WA oI &t arard [ O IO (o) ¢ B, A9 B guad o
X 3o Praer geond gu Pred @¢ 9T o @ gua 1 8 e
HIFC |

(1) \gg,—i’;inﬂ {2) Jggisinﬂ (3) Eglsm (4) Jm

15 P.T.O.
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33. Two satellites 3, and 8, revolve round a planet in coplaner circular

as.

orbits in the same sense. Their periods of revolution are 1 hr. and 8
hr. respectively. It the radius of the orbit of 8, is 10" km. then find
the speed of 5, relative to S, when S, is closet to 8.

(1) = x 10" km_ /h. (2) 2 x 10" km./h.
(3) 3n x 10* km./h. (4) 4xmx 10" km./h.

X YR S, 09 S,UF AS & Gl AT @9l ety wenalt § wue
9299 § A @ ¥, 39 AEd H FHN UFH 9O O 8 qoer |
aft IwE 8, % Fl B B 10" km B, Ff Iume @ T 5 & |
frmieme, s S,,8, & w99 FO9 8

1) = x 10" km./h. (2) 2=n = 10" km./h.

(3) 37 = 10" km./h. (4) 4nx 10* km./h.

The length of a metal wire is !, when the tension in it is T, and [,
when the tension is T,. The natural length of the wire is :

T MY B AR B TG L, B, W 59 W owE 1,3, ol e o)
& T TIE T, B, A & A arad @

i+, JII|"-rz""zT| lJlsz""'llle
(1) 5 (2} 5 (3} T.T (4) T+T,

Bernaulli's theorem is based on the principle of conservation of -

{1} momentum (2) mass

(3] energy (4} angular momentum
ST g0 frad gorr & fasrm ar e ®

(1} T (2) ZHT

(3) A (4) @rofig Gy

16
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37.
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When a drop of cil is spread on the surface of water, it displays beautifiz]
colours in daylight because of -

(1) dispersion of light (2) refraction of light
(3) diffraction of light (4} interference of light

mﬁaaﬁwizzﬁrmﬁa%mw%ﬁmw%,ﬁ}mﬁh%
mﬂwﬁﬁﬁmmﬁrmm%:
(1) SERIST &7 Hepretq (2) YT9T W IgEET
(3) HIEr w5 farsergor (4) U9 W BeEy

The system can be taken from the initia] state P .V, to the final state
F,. V, by two different methods. If AQand AW represent the heat

given to the system and work done by the system respectively then
which of the following must be the same in both the methods ?

%Wﬁﬁﬁlﬂmmﬁvﬁaﬁﬁm?ﬁaﬁﬁ
%ﬁﬁaﬁﬁﬁmw%lﬁmwﬁwmwma@rﬂ
nﬁmeﬁtnﬁw%wmmmﬁmﬁiﬁmﬁ&m
Fr=ififaa & & SF-a1 9z o1 srgenst & Rre g @ 7

(1) AQ (2} aw (3] AQ+AW 4} AQ-AW

A liquid cools from 70°C to 60°C in 5 minutes. Calculate the time
taken by the liquid to cool from 60°C to 50°C if the temperature of
surrounding is constant at 30°C.

{l1) 7 min. (2} 9 min. (3} © min. (4) 8 min.

qqsawaa:a?fm“c@rﬁn"cammmﬁsﬁﬂaﬂmmm
%,G?ﬁnmzﬁrammﬁn‘cﬁsn“cﬁmﬁmﬂamﬁmlﬁ
gt # ared agsw 30°c &)

(1) 7P=e 2) 9FmeT (3) eftse 4) s8iEe

17 rT.0O.
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39. A heat engine operates between cold reservoir at room temperature

41.

27°C and a hot rescrvoir at temperature T. [t takes 300J of heat from
the hot reservoir and delivers 180J of heat to the cold reservoir in a
cycle. What could be the minimum temperature of the hot reservoir ?

TF A9 A SIT STeed (F AYHH 27°C ) T Srenwr (a1
% @9 Frariir 8 1 78 €571 o Tt & T SromeE § 3004 9@ a9
RT 180J FE A9 BV TN & U HEN T T orelem @
AT ArasEH {8 " 2 7

(1) 400°K (2) S00°K {3) 600°K (4) 550°K

A resistance of 100 and an inductance of 100m.H. are conpected in

series with an AC source V = 100 Sin(100t). The phase difference
between the current in the circuit and applied potential will be :

Q% QoM FT V = 100 Sin(100t) § UF jon F1 SR w5 100m.H
N UF SHT AT X et gon &, qitay § 4y od argygea fawa
® WG 7 BT #oToE S

{1} = (2)

| M

3 3 @

The impurity atoms with which pure silicon should be doped to make
p-type semiconductor is ?

(1] Arsenic {2) Boron
(3] Phosphorous (4) Sodium

T8 orgfe & A FaET BR g REEEE @ p-type sraTe S
& oo famar s=r anfeg ?

(1) aEfaF (2) =9

(3) BrenRyd (4) #fegy

18
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42. The electric potential at the center of a cube of sides of length a with
charges q placed at each corner is :

9q 1 4q 8q
(1) Zero (2) ﬁgen a 3 NET T (4) Vire,a

wsh S 9 g gonedt #it g a 8, w8 foras o Rl ax
q IS W BAT B | IEB dw 9 faechg g gem o

2q oL 4q 8q
(1} = (2} fre, a B Jfpca 4 frea

43, Kirchchaff's law of junctions for the distribution of current in any
electrical circuit is based on the principle of :

(1) Conservation of charge (2) Conservation of energy

{3) <Conservation of momentum (4) Conservation of mass

et fagge aftaw & arr faaRor 39 fears & s & Praw Fres
# & fro fasTT aT omafa ®

(1) R T (2) AT FEOT
(3) TIT HIET (4) =N G

44, The break down voltage for a Zener diode is 20 volt. The break down is:
(1) due to high electric field in the depletion region
(2) due to high velocity of minority carriers in the depletion region

(3) duc to tunnelling of majority carriers through the depletion
region.

(4) due to collision of minority carriers with the majority carriers in
the depletion region.

19 P.T.0.
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45,

46,

47.

T A SHIS 1 FfEwHEl (3rReTa) At 20V ¥ | 1o

B T FAM B

(1} 9e3 &% F g=a fagga &=

() T HF T U AIht H I=w A

{3) ¥am™ &% H I=7 el w1 AR

(4) AT A T I AR TF T4 AE B TR

For a transistor the common base current gain is 0.99 and the reverse
saturation current Ico is 2pA. If this transistor is used in comiman
emitter configuration with base current I, = 20p A then the collector
current [ will be :

Mﬁﬁm%%ﬁﬁiﬁzﬁrmﬁwwmwu.w%ﬂh

YT a1 Ieo 2pA R ) IR 39 TIOTET B Swgias Iegol
g;mﬂwn,fﬁ'ﬂaﬁanﬂr{mtfzom%ﬁﬁmﬁmﬁm
oG, 99 @U66 99 1Rl :

(1) 1.98mA  (2) 20mA (3) 2.18mA (4) 2.08mA

The refractive index of a nonmagnetic dielectric material with dielectric
conslant eris given by :

U AP AT vt P CsEfyed Ramin or B
TR ST B

1 er A
N @ (2

Ay cF

If the light is incident on the plane surface of a material whose

refractive index is W at an angle of incidence 8 such that tang = p
then :

{1y the reflected light is completely polarized
(2] the refracted light is completely polarized
(3) both the reflected and refracted light is completely polarized

(4) the refracted light is completely polarized but the reflected light
is partially polarized

20
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aﬁ%maﬁﬁﬂwﬁ'ﬂﬁw&fﬁwwwmﬁﬁ?ﬁﬁ,
ﬁimaqaﬁqizﬁu%,aﬂranﬂﬁﬁmewm%ﬁﬁmaw
a9

(1) 9Eda @R & qft 9t g B
(2) sTafefer feor &1 ot ave g B
(3) SafiT wd grafde O & qf ave g 2

(4) waEfta e @& oft 9@ gfga B, T=iE sraaifa feoor &5
I wq F gl 21

The Maxwell's equation Vx £ = —%—f represents :
(1} Ampere's law (2} Faraday's law
(3] Biat Savard law (4) Gauss's law

(1) wREy fam (2) ®U2S & FEy
(3) = w@rE & FEm (4) 9 =1y

For a Vander Waal's gas the Jaule Thomson coefficient is given by :

“AreT At WY & BT o arTes Tnie” S @
(1) uﬁ[%-ﬂ] (2) %(b- %)

(3) H=i[ﬂ-&] (4) H:l[E*J
¢ RT c, RT

21 P.T.O.
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50. A thin less of focal length 12 cm. is immersed in water (p =1.33).
What is its new focal length for the objects immersed in water ?

wmﬁmﬁwqﬁw@m@:ﬁ%ﬂﬁwﬁﬂgﬁhﬁmm
%:ﬁm%ﬁm@ﬁﬂwgﬂﬂé,mqﬁwgﬂaﬁ:

(e T p =1.33)
{1) 18 cm. (2] 24cm.  (3) 6cm. (4) 3cm.

Two linearly polarized light waves with their planes of polarization at
right angles to each other give rise to :

(1) circular polarization (2) eliptical polarization

(3Y linear polarization (4) no polarization

(1) T g (2) #F<iE geftey
(3) YT gy (4] +E gt T

52. A star emitting light of wavelenght 5896A° is moving towards earth
with a speed of 3600 km. per sec. If the speed of light is 3x10° m,

sec. then the apparent wavelength to an observer on earth well be
about :

OF WA BTEE P art w9t dor e 5896A° B, gefi
ama35caokm.;sec.a?rawﬁﬁm%aﬁmaﬁﬂmaxm‘tﬁ./ﬁ.
é?,aamaﬁgﬁﬁaq?%,ﬁﬁ%ﬁmgmﬁaaﬂﬁ:

(1) 3825 A° (2) 5967 A° (3) 5871 A° (4) 5921 A°

22
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53. [fthe separation between the two slits is d and the width of cach slits

54.

&5.

56.

§7.

be a then what requirement must be met for the central muximum of
the envelope of the double slit fraunhofor diffracation pattern to contain
exactly eleven fringes :

gf2 @Y e (@ Baw) & 9 & g8 dud g@s e B 9=
a B @ 29990 & = I=I99 TE9 fide SrErme R v
FARE o1 ' F27 FA TG EITH gt B

d 13

m T=5 @

1 d_15
z B 15 “)

[~ =1
mof o
b | G

For Comptcn scattering at 90° the effective sluft in wavelength is :

90 av Frued faeefiet B adn ¥ F oWl ST S Rk
(1} 0.242A° 2) 2.424°
(3] 0.0242 A° (4) 0.00242 A°

Which of the following hydrocarbons has Lthe shortest c-c bond length 2

fre BESIHEa # fPE®T c-c 9 TN G99 FHH Bl & 7
(1) CH,=CH, (2) CH, CH,

(3) HC=CH (4) @

How many isomers are possible for hexane ?

T & fpae @HEE T B 7
{1) 4 (2) S5 3) © {4) ¥

Diethyl ether on heating with excess concentrated HI gives -
{1) Methyl iodide (2) Iso propyl icdide
(3) Ethyle iodide (4) n-propyl iodide

-2 3 rc-TtOIr
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S} TUTSN $9X WIE BIEEIOM HEiess @) sifteedr & aufefy
RY HA 9T B 2T B

(1] Prass sdegs (2) STEET DE HrEES
(3) ZUTEH TASEES (4} TA-ONEW HEEES

58. Acetic anhydride is obtained by the reaction of :
(1) Acetic acid with sodium
(2) Acetic acid with diethy! ether
(3} Acetic acid with water

(4) Acetic acid with PO,

wHiew orTeEgEe aa & ¥ AeT @ frar @ -
(1) ufsfes orwr o afegw ]

(2) wfafes orw @ =g gumedew

(3) e arer o1 aFT &

(4) Qﬁiﬁzﬁmwmﬁmaﬂwﬁanosﬂ

$9. Which of the following compounds will give a positive test with Fehling's

solution ?

(1} Formaldehyde (2) Acetone

(3) Ethylacetate (4) Acetic acid
ﬁwﬁﬁﬁﬁﬁ#%ﬁﬁvﬁ@m%mww&m?
(1) ®if<ess 2) udres

(3] wEmuHRT (4) ufgfes oiys

24
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60. Vinegar is a :

511

82.

(11 75% solution of acetic acid in water
{2) 50% solution of acetic acid in water
(3} 25% solution of acetic acid in water
(4) 40% solution of formic acid in water

(1) 75% Qitiies Wfie & s § s
(2) 50% ufafees offs &1 o & 9w
(3) 25% ufefess ufye @1 5@ F 9=
(4) 40% HIfF ofys &1 5= F 9

All nuclecphiles are :

(1) Arrhenius Acid (2] Lewis acid

(3) Bransted hase (4) Lewis base

sl gfdeEe 8 B o

(1) omfefrma o (2) TQ o

(3) ®WiEs @ (4) TIH &

The particle size of colloids ranges in between :

(1) 1-10nm. (2] 1-50mpu,

(3) 10-100 pm. (4 1-50um.
FHIAES B B AHN 7 D dig dar B

(1) 1- 1099 Hio (2) 1-50 o AEsH
(3} 1 - 100 H15ERT Ho (4) 1-50AEH o

The unit of surface tension of a liquid is :

Pr 2o & g gaE @ s Fos e
{1) Kg mls! (2) Nm! (3} Kg m?s! {4) Nm?

25 P.T.Q.
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64,

635,

66.

67.

68.

The intensive property is :
LIEIEGE -t A
(1} AU (2) AR (3) AG (4) C,

auy
Fer a real gas, av ) s

(1) Zero {2) Negative (3) Positive (4} Infinity

Rreh aveaaes & R, (7] v @
(1} = (2) T (3) YA (4) =T

The efficiency of a heat €ngine operating between 400K and 300K js:

?ﬁmﬁaaﬁqnnxqﬁaaux%aﬁaﬂﬁaﬁ,aﬂa%m

(1) 1.0 2) 0.75 (3) 0.50 (4) 0.25

A system absorbs 100 Ky heat and performs 50 KJ work on the
surroundings. The increase in the internal energy of the system is :

wﬁlﬂummmm%WSDmmmwmﬁa
W%ﬁraﬁﬁaﬁﬂmﬁmwﬁﬁqﬁﬁﬁ?ﬁ-

(1} 50 KJ {2) 100 KJ (3) 150 KJ (4) 500 KJ
[sotonic solutions have :

{1} the same freezing point (2) the same boiling point

(3) the same surface tension (4] the same osmotic pressure
TGO T F axr & -

(1) @5 & fanip (2) U & ey

(3} TF 8 g g (4) TF & qoERer ey

26
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70,

71.

14U/93/ 4(i}

The massless particles are ;

(1) a-rays (2) PB-rays (3) ¥-rays (4) protons
g W For gy |

(1) o-Reoor (2 p-FRor  (3) y-Rmw (4} TR
TN.T. isa:

(1} Medicine (2) Vitamin (3] Disease {4) Explosive

diomqodo B OF
(1) =@ar (2) F=fm (3) fd (4) RS

The normality of a sclution of sulphuric acid is &

0 Its molarity will
be :

qﬁﬂ@gﬁﬁsm%ﬁﬁqﬂﬂﬁﬂﬁm%%ﬁmmﬁw
gt -

M
m 5 @ o5 3 T @

Which one of the following will lower the activation energy for a
reaction ¢

1] Addition of a catalyst
{2) Increase in the concentration of reactants
{3] Increase in the temperature of the reaction

{4) There is no way to lower the activation energy

27 P.T.0.
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73.

74.

(3

76.

P % e wra el e & wiiaer st 39 de 7
1) B S8RE B s ]

(2) PR SRS W GiEer g |

(3} BRI 1 A9EE ST |

(4) TR ot B o aee @ wW a9 & g 2

I the specific conductance and conductance of a solution are same,
the ceil constant is equal to :

ﬁﬁﬁ?ﬁiﬁ@qﬁﬁﬁmﬂﬁaﬁqﬁﬂmﬁ%ﬁ%ﬁﬁﬁ
ma‘ﬂﬁﬁ%w

(1) 0 2) 0.5 (3) 1.0 (4) 10.0

Which metal is used as g coating on steel to prevent corrosion ?

TR 9T 54 A1y W A9 A ¥ S Heww @ wwR B R
(1} Na (2) Ca (3) Cu (4) Zn

The first use of quantum theory to explain the structure of atomn was
made by :

(1] Heisenberg [ﬂ/Bnhr
(3} Planck (4) FEinstein

mmmmmﬁm%mﬂémmﬁm
Tar e & ar

(1) BRE==/t  (2) «fex (3) *AH (4) M=

Which of the following halides is most acidic P

=1 3emsst & @ aed ofms g B ?
(1} PCl, (2) sbel, (3) Bicl, (4) ccy,

28



77,

78,

80.

14U/93/4{1)

SLV-3 uses propellants :

(1) Salid (2) Liquid
(3) Solid-liquid (4} Biliquid
U g d1-3 # e Oie g9 Oy B

(1) 3K (2) o

(3) Y- (4) =EfeiEas

Ify = 2%° - Ox* + 12x + 25, the values of x for which :—i— =0 are :

qﬁ'y-ixs—9f+12x+25,xﬂ}ﬂﬁﬁﬂﬂ%%ﬁ %-Dt :

1
(1) 1,2 2} 3,4 @ 3.8 (4} 5,6
s 1
. The value of rl-lﬂg (n’-r’) is :
a-1 1
lim >
e T:_rz) o A &
L n n x
(m 3 @ 3 @ ; U
il dx j
fl+:osx is equal to :
X + sinx
dxagyET B
jl+:05x * L
X X X
(1) =xsin {2) XCME (3) xtam_— (4] xtanx

2 B P+T.'u¢
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szi

83.

84,

lim 2B . 1
=0 got £ 18 €Qual to :

g DB X

i P AT ST ?

(1) © 2) 1 (3) 2

The asymptotic, paralle] to the axis of x, of the curve
_',r3+ xz}r+2xy9—y+ 1=0is;

1
4 2

Ty Xy 2%y -y + 1 =0F x-38 H FHET A9 ¥

(1} 3-0 (2) x =y 3] y=0

(4) y=2x

The angle of intersection of the curves y = 4 - x* and y=xis:

ﬁﬁy=4-x2\3ﬁ?}r=x2% EEEFT% YL FH HOT B

A2 A2 -,
o ) o w2 o

1
The envelope of the family of lines ¥ =m'x +-m—;, is :
(1) circle (2) ellipse
(3) parabola (4) hyperbola

Tl y - m'x v B g o o B

(1) gd (2) = T4
(3) I (4) AR R

30

4) m"'{ﬂJ
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B86.

87,
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Two bodies of masses m and 4m are moving with equal kinetic CRergy.

The ratio of their linear momenta is -

mah4mm%ﬁﬁvswwﬁamf%mﬂwfaﬁa?|m
M S @ o ®

(1} 1:4 2) 4:1 (3) 1:2 4) 2:3

A man walks at a speed of 6km./hr. for 1km. and Blun./hr. for the
next lkm. His average speed for the walk of 2km. is :

ek At 6 Fflo aftmwer &t o § | fefle Sw@T & of ovre
1 fito, 8 fepfle uftravar & orr & =T 81 Sua ofaa g 2
frofle aw g & -

(1) %km,;hr. (2) -Egkm-fhr‘

(3) ":?—Bkm.fhr. (4) 4—?5~k.m.,i‘hr.

The value of !‘E“"J dx js

T\Ee""dx W OAF & -

m I @ F @ & @ i

3 '1 P-T A
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B8.

89.

1 X
2

=Dhas:?

X

The equation |* .

X x 1
(1) only two distinct roots
(2] two pairs of equal real rnnt.ir
(3} one pair of equal real rnotsé
(4) three pairs of equal real rcu:i;ts

1 x x!
qHERTOT (X0 1 x(=0 &
x x' 1

2 3
qfc’:ﬂ=[,4]a’ra%
& 3 4 =2 3 3
5 35 T 7 5 7
() |1 2 (@ (1 2 @B} 2
5 5 7. 7 _2'3

32

(4)

W= =

b T N
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224
90. The eigen values of matrix: | 3 ! are :
1 2 2

91.

93,

93.

2 21
[ 31
G :
WE‘*;L?L ) J AT yeg B
(1 1,1,5 (2) 1,3,5

3) 2,35 4) 1,3,7

The order of {-i) of the multiplicative group {i, -1, i, -} is ;

Wﬂ—;ﬁ {]l'lrir_ii ﬂ [‘1] WG?FE{T% 2
(1 1 () 2 (3) 3 (4) 4

If G is a cyclic group of order 30, the total number of subgroups is :
uﬁeﬁﬁanmaﬁﬂw%ﬁrwzﬁr@rﬁw%:
(1) 5 (2) 6 {3} 8 {4} 9

If G is a cyclic group of order 13 then the number of generators of G
is :

AR} G e 13 % 9T gE & @ G B T A e 2
(1) 1 (2) 3 (3) 12 4) 16

If H and K are subgroups whose orders are relative prime, then
O{HNK) is :

A% H ofX K Suage & Rreah Sifedl arw &k § & o(#nk)
g
(1) o (2) 1 (3) OfH) (4) oK)

33 P.T.0.
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95. A square matrix A is non-singu:lar if :

O o SgE A FeEia ¥ Al

(11 Ax0 2) |Al=0 (3) |A|=0 4 A’=0

96, The number of normals that carh be drawn through a given point to a
central conicoid is :

%@w%ﬁﬁaww@%ﬁaﬁwqﬁm%
(1) 4 2 6 @) 8 (4) 9

97. The equation of the sphere is ;

M I gty 8 .
(1) 9(x"+y*+2zY=5 2 xX+2y'+37=9g
(3) 3x’+y*+2%=10 (4) xy=5

98. y?' = x has ;

{l] One asymptote (2) twao asymptotes

{3] three asymptotes {4} no asymptote

y? <x#® @ B

(1) P STT-aegsf (2) 2 TR

{3) 7 IFaefig (4 T s =g

99. The radius of the circle : ;
X+2y+2z=< 15 x2+}f2+zz—2yi4z=lli5
TT X422y +22=15 5" +y° +z—2}r 4z=11 %t fBrogr &
1) (2} s ) /7 4 ¥

34
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100.The direction cosines of the normal to the plane x + 2y + 2z - | = @
are:

T x+2y+22-1=0 & AB¥wry 3 Rg Sy &

(1)

¥

i 122
'3 @ 333

Lad | o
PN [ P U P

131
(3) 3'3°3

35 2000



10.

I,

12.
13.
14,

srvaféan % fora fdw
(¥R QA% & wau FTAT0 g 97 4T J4T- 9% & g gor ov
mm-mmmﬁﬂ?#ﬂw}
T e frerd & 10 fre & o] € 2| & f e § ot g v § ok o
TR et TE #1 QR S W 9 W R Y o -t o 2wt
3R & gEd g & S
T 9§ v oy wdw-ow & stare, fow @ W@ @ § ger 9 A
¥ F w :
FT- 79 FET R &7 e 1y 3 0 9 I 3 0 e w2 g 3T T e
¥ IT-UX W A qOET AT Al
HAT SR T IR H HAI | T97 HAR-78 W 99 F Frvffed wor o forad
FT-9% & 9% ¢ T 47 § S Fywhie A v o frg wer #9242 g w5
T &Y 31 Wl ol v ¥ awl yea-gfer w1 wwie awr dz & v A wn
g T
Flo [Ho e WX WT FIHWIE WOW, TETGRAT WOAT ¥ AT WO (AT Y W) vy
TyTYRAE! ¥ FEEIE FT Fo QHo AMTo ¥ qewr w} wiafeat F safreery w ey
i |
mmﬁrhf#aﬁfq?nﬁmmrﬁrmmmﬁmmmmwwm
TGS W @I 7T R ;
m—gﬁm#‘nﬁam%mﬂwﬂ%mﬁ#wﬁnﬁwm&dmm%m
anw#m-wa?mﬁwﬁ#mﬁ#ﬁ#nﬂﬁaﬁm-w%mwwﬂiuﬂ
3P 3 srqEre 47 @ mgr mOU A1
mm%m%m%ﬁaﬁﬁﬁwaﬁwﬁ@ﬁaﬁmqﬁﬁww
qt-mqmqaaﬁa@mﬁmaﬁmnﬁamaﬁml
mé’ﬁwmm@mﬁanﬁmﬁmmhaﬁmﬁﬂmmm
:ﬁ'é:rm#é‘;ﬂmﬁaﬂﬁ%mﬁﬁ#wnﬂ?ﬁ'#mﬁ;#}ﬁm'wqw
mmﬁ%fﬁqw-m%wg%mmwﬂmmﬂm%ﬁﬁmw
FFETT H
A & IR 377 F g o I- 47 W w5 § 9 aw )
“ﬁﬁﬂmﬁﬁﬁ%ﬁﬁ&nw#ﬂmaﬁaﬁaﬁqﬁaﬁﬁm
ﬁﬁ%mﬁwﬂ&nﬁﬁﬁamﬁmmmé,a%ﬁwﬁuﬂmﬁﬂfﬁa




